Worksheet 3.7 (A & B) (work).notebook

WORKSHEET 3.7A

1. Iff(x) = -8x - 3, find each value.

a) f(3)
£@)=-8(3)-3
£(N=-24 -7,
£@)=~22

2. fgx)=1- % X, find each value.

a) g(-12)

qE1D=1 - 2%¢12)
a4-1Q=1\1+9
9(-\2)=10
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b) f(—7) Q) f{l)

N=-8+)-3
fFENH=56-3
L(2A)=53
£E)=-a(H)-2
fE)=-4-3
£E)=-%
b) g(0) ) g(5)
g=1—% (03
glon=1—
qlo)=
(H= - 3(3)
aqce)=1- 1%
AqN=F -1
9(sy=-4 or -2,35
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\/lwv.lve
3. Given h(x) =2x -9, find xif h(x) = -33.
*+ 2x — 9
+9 +9
24 F 2%
e 2
\{.-\ralu\g,
4. Given p(x) % +8, ﬁndxlfp(x)_48
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5. Itis 76°F at the 6000-foot elevation of a mountain and 49°F at the 12,000-foot elevation. The
temperature can be determined by the elevation using the function t(x) - —ﬁ x +103, where x is

the elevation. Find, the tem eratu_‘;e if the elevation of a mountain climber is 20,000 feet.

solving tor ovalve
+( ): —?_o@oo ( >+ 03
£(20, ooo) = + 103

L(20,000) = |3°F

\/eo.1|: O
6. The median age of men who got married for the first time in 1970 was 23.2, but by 1998 the median
age had increased to 26.7.
2024

a) If the median age of a man getting married for the first tin be found by the equation
m(x) =0.125x + 23.2, what is this man's age? X= &4

m(sy) =0.125c4) + 23.2
m(sd) = ¢. 5 + 23.2
[m(s4)= 29.95 ]

b) If m(x) :ﬂl_g?ﬁnd the value of x and explain what this means.
2?’515TO.’25X+23°Z yeariqmrmo

th 3?’5 0‘1,25 7< ‘p .
0-125 | 0475 In 2005, the median
ade 0f a man gettiyg
35¢X martied fr the {ivst
time 15 £#.535.
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WORKSHEET 3.7B

1. The US. Bureau of the Census predicted that the population of Florida would be about 17.4 million in
2010 and then would increase by about 0.22 million per year until 2015. If p(x) =0.22x+17.4

represents a linear model for Florida's population, where x is the number of years since 2010, find the
population in2014,. X =Y CZOI"! -20 lD)

p(4) = o0-22(4) + 7.4
pln = ©.%% + 17.4

P(_q): 1%.2% million \oeo\ole/
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2. The population of a small town in 1995 is 2400. By 2000, the population had grown to 4000.

a) If the town’s populationGince 19952an be found by the equation
plx)=320x + 2400, find p(17) and explain what this means.

p(1#=320(I#) + 2400
pU# = 54dp +24pp |1 2012,

the popviabion
plipr Fe4o of thiv towr

1995 +1% = 20)2 was #9410,
b) If p(x)= 1%: éibvﬁnd the value of x and explain what this means.
2 =
T e I CON
11,520 + 320X [n 203}, the

220 270 +_'f§_’_? yo'rulahon 15

dicted 10
X ze3l 0Bz,
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